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QUESTION 1

The virtual machine log rotation size can be changed for all VMs by which two interfaces? (Choose two.)
A. vSphere Web Client

B. ESXi host client

C. esxcli

D. PowerCLI

Correct Answer: AD

QUESTION 2

An administrator would like to configure vSphere HA to use two isolation addresses.

How would this affect the behavior of HA?

A. If both isolation addresses are not reachable, the host will be restarted by the HA agent.

B. If both isolation addresses are not reachable, the host will use the vCenter Server IP address as a final isolation
address before being marked isolated.

C. If only one of the isolation addresses is reachable, the host will not be marked isolated by HA.
D. If only one of the isolation addresses is reachable, the host will be considered in an isolated by HA.
Correct Answer: C

if you use two isolation addresses, and if only one of the isolation addresses is reachable, the host will not be marked
isolated by HA.

QUESTION 3

Which feature of vSphere networking protects hosts from losing connection to vCenter Server as a result of
misconfiguration of the management network?

A. NIC Teaming
B. Private VLAN
C. Rollback

D. Health Check
Correct Answer: C

By rolling configuration changes back, vSphere protects hosts from losing connection to vCenter Server as a result from
misconfiguration of the management network.
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QUESTION 4

On which level is the virtual machine system traffic reservation defined in Network I/O Control version 3?
A. Uplink

B. Distributed switch

C. Distributed portgroup

D. Host

Correct Answer: B

QUESTION 5

An administrator must change the statistics level for short-term performance monitoring and wants to collect metrics for
all counters, excluding minimum and maximum rollup values.

What would be the statistics level?
A. Level 1
B. Level 4
C. Level 2
D. Level 3

Correct Answer: D
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